EBA 2911, lehare 'S | 17 Nov. 2021, Ruuer L
alllier===9

Play, 1. A HGFT-\-G.\‘s e
2.. MKT\%:\A.Q_Q c_o'.;t y Swa raol UGy Cos’km W’Q\,\ql R u_UWQ_

1. A wdprtals rule
- o X T
uiks of e YR 5 O T
s te nuwker

UW\ 'QCX')

Notedsen -
X5
which ij Y A’PF\‘G’O&C\/\;\/\% wheae X s

a—{;?reac\/c.\,@j 5
AN
Wort 4o Fud L F6O

x-3
Ex {-Cq = .
W(x‘) X\
NU&MM'\'W* g)g_.rs ’—’—‘5'3 l—5:0
X =4 O - exprdion
o

Denoiustoc b ()
x|

i -3y’ 3 3
v ’F(K) :%P we (3= 5)' = bw = —
. %4 0] X2l = L
Chacle s X=1.01 +han 3-1.01- 3 =3 6150 ¢
L (1. 01)
+ o0 |
e
Yoo °

Note. Has o o o



£
AN
x>0 e =)
Seludion Nuwig ratoc Qe ——>» O
X — O
DQW&«QH 6—-\ —————-b-'e__\-.-_\-\'— O
s—t O

QP?ha X,"\—\chc-\eu\\s oo, y
| 2 () =88 %
@A) = 2 A«
2;< n - -—%::,2_::2.
AU = p— wA e:( = €° l =
sy O X0
2 ! 2
AL 2x 4 _
B e 2 My, DO~ =0
o
e IS x+0 < x>
oo
oo ———
SN <O
(o =

2 . MOU"%\ V\/Q/Q COS—t

M%A uu}* Cos’\’ mrczi\‘wul RORMUR

Cxy ™ Do Aotal cost oF :\DWO\MC\\A% x WGES of

S CIG'W\\A-\_@C'J\J-\rwa
C'(X) Ts tue W‘“Bc_s.:o.}_l cost

[nlerpretafioy  The cost of produccing e Mot

wvv":{” Haw X U S . o) )
Clxr )= COXY ~ oy ST el
= Cl1)-Cx) = == '1 N{E::O - C(x)

Q)



WL\D C'(x) ¥ = much sTw\?Lar weetl, . Yo wosh wei, !

Q(;() Ty e SRR 2 bé 6—\\\'{v\_3 < GatS

R'(x) s T Mcu—g/‘“‘ua-ﬂ LURvULL 'S:'t\/\c_'\"(-\c_\/\

"

EX X tows ofF =old salwion

Q'(EO) — extroa RO L"j "-“L-\“\% 1 exira

A’QV\ aﬁ- Salvio, WO
(e & R(5VY — R('SOBB
[x = F«\Oo\MchJl aud] sold wats )

(-ecm?s’&ﬂ B fn/(K p! )

uowny 5O ons.

The ?m—(—"f"f 'F'“\AC{‘TO_\/\
2 L}

Pi) = R(x)~— Cx)
Ty the M&hﬁ;\\v\q& P g_—;_(( ’E‘L\-’\.Q“‘_‘}L\‘

Plix)

Avrag? wit cost

of ’P;O*Mc)"u,j < uwats s A(,c) — CE:)
Defrition  C(¢) TS costfruchon if é@
O Clo)>© (stact-up cost)

@ C() v we AU ( C'(x) =




DeFt—J—l-'?O’H lF x = C 75 a Wiuwihwauwi ?G:&,C&
‘gér 'AL’() o, ¢ s QQ“QOQ e (_3_‘-‘:‘_5_'_’(' 9{3_‘\1-\1\:3\:4

et groed e wiidwal avamgl wik coct )

( Hee  t-vellue

Rexuult 1—(:- C,”(X) > O -qu\\ X>0 Phen the
e Solutiow o}

cosC o?-\%‘w.uw\ TS

ch{\&q%ﬂ“m

Clxy = Nx)

B Clx) = x4 200x ~+ 160000
ThTs 1> & cos+ 'F"“"Cf‘l"t"ow Lo counse
@ Clo) = lb® 0O > ©

@ clix) = Ix +200 > O ]Q,.(— X =0

——

@ Cll(x) — 2>o(¥c~(\ all x ‘_3
Thew <the co=t oF“:\M ANAA 76 CB\L{%"‘-R \“?f/bLLt
2 go\-‘\-\'\dh

the sosl o c’% ‘e
c(xy = A

« 2 42007 ¥ 166 OO0
2 X ~ 200 — — > i
” 160 0Q0

2K A 2&0 = X+ 25@ ~ ~
(60 OCO
x

x* = 160000

S0 X = HoO (m‘j pos. )
75 tlee co =t GF'(—?\MMM _ @




The wmiuvasurad M?/Q Ui+ cost 5

A(Hoo) = C'(#00) =2 400 +2c0 =_/000

()

CDeG\AA €+|—u\ z
o y

the ope 15
Alc) = Cm =C'(c)

which Ts  4he \AMW\Mq\

wai cost .

Cx) T

>l o o _ A
XV

( Hhe cest O}D‘F\M\AW\
Hhe Slope s |

Clx) _
— = AlX]
el Ay = SO T e wiiwal

OU\)&FGLE,L Uit CO$+ w lhaw C (C) A(C)
— dueo  swuallent 6\0?6'.

©



